5. HEWME LOFER

20235 1B IRE
DHE—AN4-YnEEH [ 68 A
HEE&HE 5 A
TEF4E 34 N (EREH)
QINBEEEREE
FTRE | FEH EE
EES 52% 13 25
2[4 84% 21 25
it 68% 34 50
©F:=3 S ESg=F-
HEH%E
30t 408K 504t 604t 704K it
0 2 1 1 1 5
HBHE GEEE) - EEENEED
301t 401 504t 601t 704t it
0 1 2 3 3 9
@RS R 2 & 1 (HEZHE)
iz | EEE | #Ee B BhF it
3 1 1 0 0 5
OEIHELEESHEDLE
EREETEE] 5 36%
EEEgHE 9 64%
©FfEsH-B5E
R 5 B 5E(%)
ER2OEE ML= EEER
ERR2OFEEXES 6 100
IF&30¢HL$%% 5 83
FRIOEFFFRXE 5 83
SHTEEMNEEE 4 100
DT EEFEEXSE 2 100
SH2E RN o 3 100
DH2EEHFZEXSE 4 100
SO E 1 100
DIHSEEFZEXSE 8 100
SHAZEENE L= 2 100
SHAEERZEESE 100 |
E%# %hh%ﬂ-“%%m%ﬂ
XRPBELEDEZFEHNELL-OD
DEEZDIER (A) (%)
B RS | 5] 62.5| (RAFEEFNDZEESE 8AN)
(BEE HEANPETHEERIT TV EESD)
H= 0 0
T (HEETEE) 3 375



ESE [ 0] 0]
@AZEHTE FERAAZE MAFED)
H29 H30 H31/R1 R2 R3 R4
E:] 13 3 7 5 3 5
= 6 5 5 5 6 2
it 19 8 12 10 9 7
QORZ-REEH
H29 H30 H31/R1 R2 R3 R4
3 6 1 4 1 1 0
= 1 1 2 3 1 2
5t 7 2 6 4 2 2
OFREDHTE
H29 H30 H31/R1 R2 R3 R4
A 42 40 39 44 43 39
IR 3 (%) 16.7 5.0 15.4 9.1 47 5.1
OBEFEERDHR
H30 H31 R2 R3 R4 R5
BEH 2 1 0 0 3 1
DS ANFEH RKEEED
1[E4 12 XS AAXTOAEE
AEES 18 (A2 L EA DS ARER2ELL L)
BBEFEH
1B 4 1 th
2[E 4 1 ARRIT
HIKFEEED

MEFEFUN O EEEE FEEAL

BNREFE R

B OREEFKR

VT FRERE (BA/50)

mEFR (hE)
REBHKRE (PE)
HMKZE (RED

EEOHIBEMEE

. REEA~ORSSTA7ED
HRBIHBER BN TREETR

HRAISVILARELEDKR

KIRMET EDBHERETE - BB E

HEEEDE
HLSWVEERBALEMFR
ERMESFFR
5 B EREEKF

EEFESEDE 8B



